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Instruction | 3288 | 3%BA

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B 2 AR > 35 A 2B B e 3 1 -
TEARWCE W55 LI 7R AT > 16 APt -

. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iE A — BRSNS E H A EIEREE R
X EARE2SE R W FEEEH A — A IEWRE S -

Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R RE R H PR S SRR AE S R b R B A R R IR (R T PR R > RIS 5E
EEREBINE R o WAREERGEEL E R LG RA YD -
TR H A R AT EAREAEERR L o ETE R A RS B R G R T EaaE » AR 52
EEEERINER - ARSI EELT SR LNERA SWEED -

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

TEE H AL ER D » BEE BRI > BEEZEAR0 - ARHEHI 7510053 ©
TR H AL E M E o R XA 2 > B ZE BAR05) o AR I 23 910053 ©

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

SR RRRAR ~ TTHEAR ~ R~ BAGHMRBAERmE TR  sHEG—ARFEMR o WEHIR
A ATATT R RE DA JH T BT B2
SR RRRAR ~ AR ~ R~ BAGHRBAE AR TR o itHHEG—ARFENR o Wtk
A ATAR] ] REDA A0 AT T B

. Figures are not necessarily drawn to scale.
] T AN — S 4% LU 5] A 4L
EIEA— gLl 2l

. Before beginning the test, make sure to write the Competition Code “Ecolier”, your name and Competition
ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition ID completely!

TERR UG H > FEREOR CAS B ZE AU “Ecolier” » R A FNHEE B SRILE AE -~ ELEE 4 - Kl
SR HEH RE4% 1) 0L B T AR I A ERY R R T B -
TEFF AR Z i > iEF R C A TSRS “Ecolier” » #EAFIHEH IE S B FEE I~ FIFE4 > Rl
RN HEE LS AT TR I B R T e

. You will have 75 minutes to complete the test once your proctor tells you to begin.
B A EAT R IR - VR AT S 43 8 Y IR ) 5 FRGHI At o
W I EAT I IRIG > UK TS5 PP I ) 58 it -
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2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 1: 8 problems, 3 points each
|E—#h4: 8B, SE3H | £—#4%: 8 HHE, 5H3 5

1. What can we say about the product 88 x 888?
B AR AR 88 x 888, KA AE R HA?
%k T AR 88 x 888, HAVT AEAE#AL?
(A) Between8and 88 | /£ 8 #2 88 =[] | /£ 8 = 88 = Jq]
(B) Between 88 and 888 | 7 88 #= 888 . f] | /& 88 #= 888 = Jq]
(C) Between 888 and 8888 | /= 888 #= 8888 . ] | 7 888 #= 8888 % |3
(D) Between 8888 and 88888 | 7& 8888 #= 88888 = [ | /& 8888 F= 88888 % Ig]
(E) Between 88888 and 888888 | /& 88888 F= 888888 % ] | /£ 88 888 #= 888 888 = I4]
[Proposed by Australia | i X 4] 42 | M XA T A% |

2. Which of the pieces shown would complete the pattern?
il LR — 3T AT Ak T B0 B 2
AP EAR— ST AT R T A B K2

(A) HX (B) o0 (&)} X (D) i;ét (E) z?é

[Proposed by Iran | {7 B4%RE | 7 8444 |

3. Anna, Bonnie and Caspar have some kangaroo cookies on their plates, as shown. They
then share the remaining 15 cookies on the tray so that everyone now has the same number

of cookies on their plates. How many more cookies does Anna get?

4o B B, Anna, Bonnie, Caspar #9# 72 &4 — % A, RARMNSETHAEE
® T8 15 8t L, A HBEARER TR LI ET/E. M Anna § £ 53 &RHHE°

40 | B, Anna, Bonnie, Caspar #9 % F 2 & A — R AGF. RN oFETHAEL
#8915 BT, HIFEAMAANEETLOHFHE4FE. B Anna & % 133 Uk b2

GRS

Anna Bonnie Caspar

(A) 4 (B) 5 Q6 (D) 7 (E) 8
[Proposed by Germany | & E 44 | 44 E 444 |
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2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

4. The leaflet shown includes transparent windows, allowing what is below to be clearly
seen when the flaps (shaded parts) are folded over. When both flaps are folded over ,

what is the sum of the numbers that can be seen through the windows?

BT OREENT T, vRENER (IFUH) B, G2 TEGN AT AFE
AR . Mg WEEBEEARITERE, BBF O TUAINNKFI RS J?
W H TR OREEAET e, SBENE (MYIH) 0, G2 TEA AT AFE
WEE. FEAAELAR SN, BLGTOTRAFINOHTZI RS )2

OO 4(9]2f U0
OO 13(5] 7 U0
8[16
(A) 7 (B) 9 ©) 12 (D) 14 (E) 15

[Proposed by Tunisia | R &M | KR4 |

5. In the six-digit integer PAPAYA, different letters stand for different digits and the same
letter always represents the same digit. AlsoY = P+ P = A + A + A. What is the value
of PXAXPXxAXYxA?

Je it PAPAYA #, TR FHR AT R MRF, 48R0 FHQLRAMAGET. K
S, Y=P+P=A+A+A. MPXAXPXAXYXA®ERLS V?
i 554k PAPAYA ¥, TR 8 F AR AR M HF, 1R 6 F4HELRAMAGRE. &
9, Y=P+P=A+A+A. PXAXPXAXYXA®ERLS V?

(A) 234 (B) 243 (C) 324 (D) 342 (E) 432
[Proposed by United Kingdom | 3£ B 42 | & E 4444 |

6. Thea rotates a piece of paper divided into six equal parts. When the paper is rotated, it is
turned clockwise one part. The original sheet of paper and the result of one rotation are
shown in the diagram below. What does the sheet of paper look like after a total of eight
rotations?

Thea 7 #% — kA 0 MMAAR F 3R 0 09 4k . AR AN, FIRAEIARF ST B — B3RS . 4
B9 4B AR B A C At — R AR R T AT . MBI N R RIR, BRKARRE
B AR T2

Thea 7% 4% — KA RAMAF IR DMK, RSN, BRKDNF4 45— NS %K
e REFCRE—RENE R TEH®. MEZTERNREIEE, IKEAFLRR

fHL#T?
—
(A) @ (B) @ (©) @ (D) @ (E) %

[Proposed by Germany | & B 428 | /& E A4 |
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2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

7. Kangaroo Day takes place every year on the third Thursday of March. Which date is the

earliest possible day for Kangaroo Day?
HFFEZANFEZEERERAERE . MERE R TRAD—X?
HBEZANFANAEZHOREERR . FARRAD RFTRAI—K?
(A) March14 | 3 A 148 | 3 A 141 (B) March15 | 3 A 158 | 3 4151
(C) March20 | 3 4208 | 3 42081 (D) March21 | 3 A21 8| 3A21#R
(E) March22 | 322 R | 3A22H
[Proposed by Afghanistan | % F458 | 7% T4

8. Which rope ties into a knot when the ends are pulled?

MRARAB T 0 3 A AT A 2
PRAR 46T 76 3% 42 U I A AT R 22

[Proposed by Russia | 4 & A4 28 | K F A4 |

‘ Part 2: 9 problems, 4 points each
(EERs: 9 MEE, SE4H | £THS: OEEE, 5E4H

9. How many lots of 12 minutes are there in 12 hours?
A 12 BT S 0B 12 o4 09 ] B2
12 P S AN 12 oAb at i £
(A) 6 (B) 10 O 12 (D) 24 (E) 60
[Proposed by United Kingdom | 3&E 428 | & E 44 |

10. There are five hurdles in a 60 m hurdles race. The first hurdle is after 12 m. The gap

between any two consecutive hurdles is 8 m. How far, in meters, is the last hurdle from
the finish?

60 RIEMILE T A ZEMR. F—EMRIEHAL 12 K. (BT RE 2 MR G/
fa2 8 K. M R&E—AMBIESRLIH S R

260 RIEREWWR T H AMER. F—MERIEHAL 12 R, AETANELERLRZ 6 ]
M2 8 K. FIRE—MEREHLER SV R?

(A) 8 (B) 10 © 12 (D) 14 (E) 16
[Proposed by Uganda | & # & a8 | & F &40 |
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2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

11. Kenny the Kangaroo jumps from the School to the Zoo as follows: 12, N\ 2, /1, < 4,
as shown in the picture. Then, he jumps from the Zoo as follows: — 3, /2, 1 2. Which

house will he get to?
o B FT 7, RR Kenny 2RI SHHEOGFTHRL: 12, N2, 1, «+4. Rk, i
BB EYE, BAHFXweT: =3, N2, 12, MAE 5 EIRRET?

B P, RR Kenny NFARMI WA G T HL: 12, N2, /1, «4. RE, A
HYMEREIE, BF X T: =3, N2, 12. L5 R/ kL T2

N
— 9000 O

—o—C

-

o
90 0 90 90 0 @0 0 0 0 0
School
B
=220

(&)} (D)

[ Proposed by Slovakia | &% LR | 744X oA |

12. Vasily has 20 different coloured balls either yellow or green or blue or black. Of these,
exactly 17 are not green, 15 are not black, and 12 are not yellow. How many balls are
blue?

Vasily # 20 B R R LMK, 2R FE. 4. Be. L6, AELfd, W54 17 @
R4, I5MEAFRALE, REREXE. MASZVERLZEEN?

Vasily 7 20 AN RFREG 3R, pAAFE HE. BE. Z&. AZERY, BIFH 17 A
FRGE, BAFRZE, RAFALZE. A S IARLTEEN?

(A) 3 (B) 4 Q) 6 (D) 7 (E) 8

[Proposed by Ukraine | & % @48 | & 52 2454 |

2025 HFHEBFRRRE—DE T FH 4 2025 FHEFBERER—DFFFR



2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

13. 6 ladybirds have 1, 2, 3, 4, 5 or 6 spots each. Marta took 4 photos of them in groups of 3.
Each ladybird appeared the same number of times in the photos. 3 of the photos, along
with the outline of the fourth photo, are shown below. How many spots do the three

ladybirds in Marta’s fourth photo have in total?

6&%ﬁ \77‘ %—17 2) 37 47 57 6/ﬂﬁﬁi,¥$ Marta ;I}éT 45’&?’“7\)}1 ) ﬁ:gﬁ»ﬂa)}l —]’—%—3§%&§ g-
CHREAERBA PHAGREAME. TEHETTHEFTHZRBA AR S WIRB A A8 .
Marta 9 % Wik B F LW = ERE LA % V{AHE?

-
P}

6 RI;”EpANAL,2,3,4,5,6 40 5. Martafb 7T 4KkB Y, kB LA 3 RNE. &
RIEABRPHINGRIME. TOETTEPHZIKBA AR EWIKREB R %5, 7
Marta 49 F Wik B H Eo = AR KA/ % VAR LD

588
888
BE®

J

(A) 9 (B) 10 O 1 (D) 12 (E) 23

[Proposed by Greece | A I8 | A 5454 |

14. Maria fills the circles with the numbers 1, 2, 3, 4, 5, 6 and 7. The number in each of the
lower circles is equal to the sum of the two numbers in the connected circles above it.
What number is in the circle marked with X?

Maria % 1, 2, 3, 4, 5, 6, 7HAANAE. 48 FFEEB P HHREAL FiRiEe fmEE
B 62 A, PARIE A K W EE b R S
Maria %451, 2, 3, 4, 5, 6, 73 ANRAE. AATHFRB FHHREF T LFZEHEOHANE
B b4 52 Ao, FlARI A KB ey R % )?

(A) 2 (B) 3 ©) 4 (D) 5 (E) 7

[Proposed by China | ¥ B4 | P E 44 |

2025 FHBERARE—DETFR 5 2025 FHABFRASCF—DFFTFA



2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

15. In the petting zoo, Renée feeds 6 sheep. She gives them a total of 210 grams of dry food for
lunch. She gives the smallest sheep twice as much food as she gives to each of the others.

How many grams of food does the smallest Sheep get?

EJ’%%@’J%@@ Renée 2 7 6 & 5. Jbi8 b e 210 L3t iE A F A, RS R F
RN ERANGE FRE. MRDNGFFET S 020 d?

BLREMHHE L, Renée 8T 6 R F. WE LA TN 210 L FRUEAFE. LT IHFE
AT LI R FHHE. BRI FIZET SV 50m?

-

(A) 55 (B) 60 Q) 70 (D) 75 (E) 80

[Proposed by Germany | & B 43 | 5 E 44 |

16. Emil put slices of tomato, black olives, chillis, mushrooms and onion rings on top of a
pizza, but not necessarily in that order. He only put one ingredient at a time. His finished

pizza is shown in the picture below. Which was the third topping he put on the pizza?

Emil Ze 3B 8 £ T & i B, #Rik. B#. FEB, BRI RBEERF.
—RPRA BB A TR B T E . R AR MR A B89 B A8 AU R AT P

Emil £ EH LT &5 A ZHPL. IR ERE. £28, 4""’7\"?%5}%:"5/\)']'95/?’ e
— KRR —FEA. T RAG IS T A . B AR R 69§ = A B AT 4

(A) tomato slices | & h | %%H. (B) black olives | Z At | Z i@

(O) chillis | #ki | i o (D) mushrooms | E# | E#LP

e

(E) onionrings | #E B | ¥% B @

[Proposed by Germany | /& B 44 | 4 44 |
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2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

17. Rossitza has written down the number of pieces of different fruit that she has. Unfortu-
nately, some digits have been covered by paint. In total, she has 106 pieces of fruit. The
number of pieces of two of the types of fruit she has are equal. She has twice as many of
one type of fruit as she does of some other type. She has more than 10 pieces of each type

of fruit. How many bananas does she have?

Rossitza % F 7 HHH 6 B KRR T, REHR, —RRFRAABET. WEESY
106 18K R HHA M MAEKROHKEAF . HHH Y E— 18K ROKT RS KR
BiE. A O A K RO B EAAE 10 8. PRA 5 VIEE?
Rossitza 5 F TR 6 EH KRG HT. FEOL, —RHFRAARET. WAL
106 AR, HAMA 4 T4 K R TANF) . HIA 8 % —F K RM R TR H —H KR
il RANA 00 GA K R 9 S EAARE 10 A, FRA 5 SARFE?

2 mangoes
0 apples
1 pears
3 bananas

30 oranges

Mango: £ X, =X | Apple: 38R, ¥R | Pear: £, 3| Banana: ##, #&
(A) 13 (B) 23 Q) 43 (D) 53 (E) 63
[Proposed by Greece | A f/E#8 | 47 M4 A |

‘ Part 3: 8 problems, 5 points each
(=64 8HEE, W59 | £S5 8 HHEE, 5ES5 5

18. In the morning, 5 friends had identical fully-charged mobile phones. By the evening, Bob
had spoken on the phone as much as Ann and Cristina together. Bob ran out of power.
David had not used his phone at all. Which phone belonged to Edward?

S5{EMAR ZEMME G FH, FRARALHTE . K2 8%, Bob 4918 355 M $2 Ann Fe Cristina
8918 FEBF M 6948 F=4a F) . Bob 89 F#4E 7. David A KB AL A M bG T4 . BIIRER T4
2 Edward & ?

5 NJRAH T AA8 B 6 F AL, T B A A T B %) %, Bob #9i# 4% BF 18] 55 Ann #e Cristina
#4938 75 B 9] 69 ¥ 48 F) . Bob 89 FALA & T . David A& ARZA & A MGG FHL.  FFRSEF AL

T 1 Q060

2 3 4 5

(A) 1 (B) 2 O 3 (D) 4 (E) 5
[Proposed by Slovenia | #77%& /& B4R | A& R B4

2025 HAEBERARFE—DE T FH 7 2025 FHABFRASCF—DFFTFA



2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)
19.

ﬁEBDA

Julio wants to construct the cross shape shown in the picture below using pieces shaped
like the ones above. He has many copies of each piece and knows he can rotate them if
needed. The pieces must not overlap. What is the smallest number of pieces he could use

to construct the shape?

Julio 28 A £ & By = 69 R B B AR 09 BE B A it T w69+ F A B £, AR H RO BB AR RS
W, dETAREER. HE TR, MAedEEEBEERVELS VRBE?
Julio A L@ pr =8 FRH KRG B A RMETEN T FEEE. BHYRGIEARARS
e, FETU#EER. HEAREES. FAFEINBERVEER S VHHE?

7N
(A) 11 (B) 12 (O 13 (D) 15 (E) 17

[Proposed by Puerto Rico | % % 2 &40 | & % 2 &4 A0 |

20. Vera has built a tower of blocks. She wants to replace the two blocks with the question
marks on with two blocks with numbers on. She wants the number on each block in her
tower to be at least 2 more than the number on the block below it. In how many ways can
Vera do this?

Vera #2317 — AR, WA MR A B ARGTRARBEAMFOMA. A ZE
FERMARLGHEE S ILE TEOMARLGHE K2, M Vera F % V4 Hdkdyik?

Vera 3£ 7 — B AR A, B8R A3 A R AR REHAT A F T HRA. 2%
PHEERALEGKE b TEORALGH K2, B Vera %V ArHeie ke

N—
14

?
7]
6]
4]

(A) 3 (B) 4 Q5 (D) 6 (E) 7

Proposed by Germany | & B 454 | /& E 4L |

2025 HAEBERARFE—DE T FH 8 2025 FHABFRASCF—DFFTFA
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21. Leonia has built a pyramid using black and grey cubes. She arranges each cube so each
face does not touch a face of another cube with the same colour. One of the black cubes is

shown in the figure. What will Leonia’s pyramid look like from above?

Leonia 12 &fe R & 25 % T — AL FH. RARMFUI T HE TR OHRTE
By —ERMFACZTROBMER. BPEATT —E2Z2E 251, M Leonia 89 & F 34t
L ARR BT
Leonia Al 2 & o R & 5 IREE T —ANEF . AR T HANZHIREG @A L
5B —AMaRAE LR mmER. BYEsT —MNLZELGIK. [ Leonia #) & F 3
LR RN LK TF?

(A) i (B) i (@)
(D) i (E) ;;

[Proposed by Poland | % #4428 | & 244 |

22. Mary wrote the digits of the year 2025 in a row on a piece of paper as shown below. At

least how many digits did she write there if it was possible to cut out 10 smaller strips of
paper like 02520,

4o B P77, Mary 248 £ B & 440 2025 F 698 F W R — 18 K k. o RILTT AT H 10 &
% 02920 sopaptumm, munysT 50 mecss

Y @ P, Mary /& 4k & B 5 4545 2025 a9 K FH o — MK 4o RIT AT 10 5K
1 02520 snuims, MRRYET S M

20252025202...

(A) 75 (B) 76 Q) 78 (D) 80 (E) 81

[Proposed by Estonia | % 3 & AL | & i) B TAEA |

2025 HAEBERARFE—DE T FH 9 2025 FHABFRASCF—DFFTFA



2025 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

23. The figure shows a rectangle divided into two identical parts by a zigzag line, and these
parts can form a square. If the length of the rectangle is 27 centimeters, what is the width

of the rectangle in centimeters?

BPBEFT —EETESRT BEABRRSGRFZH, & wEIHRS T AL R —EEFT .
WwREFHHERZ27EZR, MEFTHHERL SV EK?
BPEFT—ARIFESRTAANIRRS>GEFH, XHAFHSTRER—ANEFTFH.
W RRKFHBHRZ27 ZK, MRFHBHELSZ VRER?

—=>

(A) 10 (B) 12 (O 15 (D) 16 (E) 18

[Proposed by Hong Kong | #8447 | F 844

24. Hasan wants to write a 0 or a 1 in each cell of the diagram so that the sum of the numbers
in each row, column and diagonal is 3. He has already written a 0 in one of the cells. When

he finishes, what will the sum of the numbers in the cells shown with a question mark be?

Hasan 4846 7 #8000 5 A6 ¥ 5 0 31, HARA4T. 103 88 SR Foth 3.
B — BT T 0. MG RERE, HRA MR SR
50

Hasan A G # &R HEANL AT E 0 R 1, HFHT. HIFd AL LGSR AN 3.
HEZELF—ANEALKTET 0. BEETRE, WFLAHRTHEAETHERZI R

% e
?
0
2 2
?
A) 1 (B) 2 Q) 3
(D) 4 (E) Cannot be determined | & %# % | LiE#H <

[Proposed by Poland | 7% @448 | & 2444 |

2025 HFHEBFRRRE—DE T FH 10 2025 FHEFBERER—DFFFR
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25. Some blocks are balanced on top of each other, as shown. Blocks that are shaded in the

same way have the same weight. Ville wants to order the three different types of square

block from heaviest to lightest. What order should Ville obtain?

Yo BB, —ERAFARERLE K. MALYBEROHEARAEZEME. Ville B =M1
R AR AR AR F 2 4. M Ville & 247 2 A B AR 69 T2

BT, —ERAFHREELE— L. MEARYEARORAEZEME. Ville e =1
Rl XA BRARNE 2 287, 9 Ville 523% 45 2] 4+ XA 69072

i

‘ *

o BEIX] @ BXIE o EXIE o EIEX @ XE

X[X]

[Proposed by Finland | ZFaj## | ZF 24442 |

g
&
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